

COMPLETE HYPERSURFACES WITH CONSTANT SCALAR CURVATURE IN A SPECIAL KIND OF LOCALLY SYMMETRIC MANIFOLD

Yingbo Han and Shuxiang Feng

(Xinyang Normal University, China)

Received Apr. 18, 2012; Revised June 6, 2012

Abstract. In this paper, we investigate n -dimensional complete and orientable hypersurfaces M^n ($n \geq 3$) with constant normalized scalar curvature in a locally symmetric manifold. Two rigidity theorems are obtained for these hypersurfaces.

Key words: *hypersurfaces, scalar curvature, locally symmetric manifold*

AMS (2010) subject classification: 53C42, 53A10

1 Introduction

When the ambient manifolds possess very nice symmetry, for example the unit sphere, there are many rigidity results for hypersurfaces with constant mean curvature or with constant scalar curvature in these ambient manifolds, such as [2, 3, 4, 6, 7, 11, 12] and the references therein. Recently, many researchers studied the minimal hypersurfaces or hypersurfaces with constant mean curvature in more general Riemannian manifolds such as the locally symmetric manifolds and the δ -pinched manifolds, and obtained many rigidity results these hypersurfaces, such as [5, 10, 13, 14] and the references therein. It is natural and very important to study n -dimensional complete and orientable hypersurfaces with constant scalar curvature in a locally symmetric manifold. In the paper, we will discuss complete hypersurfaces in this direction.

In order to represent our theorems, we need some notation. Let N^{n+1} be a locally symmetric manifold and M^n be an n -dimensional complete and oriented hypersurface in N^{n+1} . We choose a

local orthonormal frame e_1, \dots, e_n, e_{n+1} in N^{n+1} such that e_1, \dots, e_n are tangent to M^n and e_{n+1} is normal to M^n . We assume that N^{n+1} satisfies the following conditions:

$$K_{n+1in+1i} = c_0, \tag{1}$$

$$\frac{1}{2} < \delta \leq K_N \leq 1, \tag{2}$$

where c_0, δ are constants and K_N denotes the sectional curvature of N^{n+1} . When N^{n+1} satisfies the above conditions (1), (2), it is said simply for N^{n+1} to satisfy the condition (*).

Remark 1.1. If N^{n+1} is a unit sphere $S^{n+1}(1)$, then it satisfies the condition (*), where $c_0 = \delta = 1$.

It is easy to know that the scalar curvature \bar{R} of locally symmetric manifold is constant. On the other hand, if we denote \bar{R}_{CD} as the components of the Ricci curvature tensor of N^{n+1} satisfying the condition (*), then the scalar curvature \bar{R} of N^{n+1} is

$$\bar{R} = 2 \sum_k K_{n+1kn+1k} + \sum_{ij} K_{ijij} = 2nc_0 + \sum_{ij} K_{ijij}, \tag{3}$$

hence, $\sum_{ij} K_{ijij}$ is constant. This fact together with the formula (12) suggests us to define a constant P by

$$n(n-1)P = n(n-1)R - \sum_{ij} K_{ijij} = n^2H^2 - S. \tag{4}$$

Using (4), we finally establish our main results:

Theorem 1.2. *Let M^n ($n \geq 3$) be an n -dimensional complete and orientable hypersurface with constant normalized scalar curvature R in a locally symmetric manifold N^{n+1} satisfying the condition (*). If $P \geq 0$, in the case where $P = 0$, assume further that the mean curvature function H does not change sign, then*

- (i) either $\sup |\Phi|^2 = 0$ and M is a totally umbilical hypersurface.
- (ii) or

$$\sup |\Phi|^2 \geq D(n, P) = \frac{n(n-1)(P+c)^2}{(n-2)(nP+2c)} > 0. \tag{5}$$

Moreover, if $P > 0$ the equality $\sup |\Phi|^2 = D(n, P)$ holds and this supremum is attained at some point of M , then M^n has two distinct constant principal curvatures, one of them being simple, where $c = 2\delta - c_0 > 0$ and P determined by (4).

In particular, let $N^{n+1} = S^{n+1}(1)$ in Theorem 1.2, then $c = c_0 = \delta = 1$, so $P = R - 1$ from (4). If $P > 0$, i.e., $R > 1$ the equality $\sup |\Phi|^2 = D(n, P)$ holds and this supremum is attained at some point of M , following from Theorem 1.2, we know that M^n has two distinct principal curvatures; in fact M^n is the $H(r)$ -torus $S^1(\sqrt{1-r^2}) \times S^{n-1}(r) \subset S^{n+1}(1)$, with $0 < r < \sqrt{(n-2)/nR}$. In this case, Theorem 1.2 generalizes the result in [2],[3] to more general situations.

Theorem 1.3. *Let M^n ($n \geq 3$) be an n -dimensional complete and orientable hypersurface with constant normalized scalar curvature R in a locally symmetric manifold N^{n+1} satisfying the condition (*). Assume $P > 0$. If $S \leq 2\sqrt{n-1}c$, then M^n is totally umbilical hypersurface, or $\sup S = 2\sqrt{n-1}c$. Moreover, the equality $\sup S = 2\sqrt{n-1}c$ holds and this supremum is attained at some point of M , then M^n has two distinct constant principal curvatures, one of them being simple, where $c = 2\delta - c_0 > 0$.*

2 Preliminaries

Let N^{n+1} be a locally symmetric manifold and M^n be an n -dimensional complete and oriented hypersurface in N^{n+1} . We choose a local orthonormal frame e_1, \dots, e_n, e_{n+1} in N^{n+1} such that e_1, \dots, e_n are tangent to M^n and e_{n+1} is normal to M^n . Let $\omega_1, \dots, \omega_{n+1}$ be the dual coframe. We use the following convention on the range of indices:

$$1 \leq A, B, \dots \leq n+1; \quad 1 \leq i, j, \dots \leq n.$$

The structure equations of N^{n+1} are given by

$$d\omega_A = -\sum_B \omega_{AB} \wedge \omega_B, \quad \omega_{AB} + \omega_{BA} = 0, \tag{6}$$

$$d\omega_{AB} = -\sum_C \omega_{AC} \wedge \omega_{CB} + \frac{1}{2} \sum_{ABCD} K_{ABCD} \omega_C \wedge \omega_D, \tag{7}$$

where K_{ABCD} are the components of the curvature tensor of N^{n+1} .

Restricting to M^n such that

$$\omega_{n+1} = 0, \quad \omega_{n+1i} = \sum_j h_{ij} \omega_j, \quad h_{ij} = h_{ji}, \tag{8}$$

The structure equations of M^n are

$$d\omega_i = -\sum_j \omega_{ij} \wedge \omega_j, \quad \omega_{ij} + \omega_{ji} = 0, \tag{9}$$

$$d\omega_{ij} = -\sum_k \omega_{ik} \wedge \omega_{kj} + \frac{1}{2} \sum_{k,l} R_{ijkl} \omega_k \wedge \omega_l, \quad (10)$$

$$R_{ijkl} = K_{ijkl} + (h_{ik}h_{jl} - h_{il}h_{jk}), \quad (11)$$

$$n(n-1)R = \sum_{ij} K_{ijij} + n^2H^2 - S, \quad (12)$$

$$\sum_k h_{ijk} \omega_k = dh_{ij} - \sum_k h_{kj} \omega_{ki} - \sum_k h_{ik} \omega_{kj}, \quad (13)$$

$$\sum_l h_{ijkl} \omega_l = dh_{ijk} - \sum_l h_{ljk} \omega_{li} - \sum_l h_{ilk} \omega_{lj} - \sum_l h_{ijl} \omega_{lk}, \quad (14)$$

where $n(n-1)R$ is the scalar curvature, H is the mean curvature and S is the squared of the second fundamental form of M^n .

The Laplacian Δh_{ij} of the second fundamental form of M^n is defined by $\Delta h_{ij} = \sum_k h_{ijkk}$. By a simple and direct calculation, we have

$$\begin{aligned} \Delta h_{ij} &= (nH)_{ij} + nHK_{n+1in+1j} - \sum_k K_{n+1kn+1k} h_{ij} + nH \sum_k h_{ik} h_{kj} \\ &\quad - Sh_{ij} + \sum_k [K_{mkjk} h_{mi} + K_{mkik} h_{mj} + 2K_{mijk} h_{km}]. \end{aligned} \quad (15)$$

Choose a local frame of orthonormal vectors fields $\{e_i\}$ such that at arbitrary point x of M^n

$$h_{ij} = \lambda_i \delta_{ij}, \quad (16)$$

then at point x we have

$$\begin{aligned} \frac{1}{2} \Delta S &= \sum_{ijk} h_{ijk}^2 + \sum_{ij} h_{ij} \Delta h_{ij} \\ &= \sum_{ijk} h_{ijk}^2 + \sum_i \lambda_i (nH)_{ii} + nH \sum_i \lambda_i K_{n+1in+1i} - S \sum_i k_{n+1in+1i} \\ &\quad + \sum_{ij} (\lambda_i - \lambda_j)^2 K_{ijij} - S^2 + nH \sum_i \lambda_i^3, \end{aligned} \quad (17)$$

where we use the fact that the Riemannian curvature of locally symmetric manifold is covariant constant.

Set $\Phi = h_{ji} - nH \delta_{ij}$, it is easy to check that Φ is traceless and $|\Phi|^2 = S - nH^2 \geq 0$, with equality if and only if M^n is totally umbilical. For this reason, Φ is also called the total umbilicity tensor of M^n .

According to Cheng-Yau^[14], we introduce the following operator \square acting on any C^2 -function f by

$$\square(f) = \sum_{ij} (nH\delta_{ij} - h_{ij})f_{ij}. \tag{18}$$

We also need the following algebraic Lemmas.

Lemma 2.1.^[1,8] *Let μ_1, \dots, μ_n be real numbers such that*

$$\sum_i \mu_i = 0 \quad \text{and} \quad \sum_i \mu_i^2 = \beta^2,$$

where $\beta \geq 0$ is constant. Then

$$|\sum_i \mu_i^3| \leq \frac{n-2}{\sqrt{n(n-1)}}\beta^3, \tag{19}$$

and equality holds if and only if at least $n-1$ of μ_i 's are equal.

Lemma 2.2.^[9] *Let M^n be an n -dimensional complete Riemannian manifold whose sectional curvature is bounded from below and $F : M \rightarrow R$ be a smooth function which is bounded above on M^n . Then there exists a sequence of points $x_k \in M^n$ such that*

$$\begin{aligned} \lim_{k \rightarrow \infty} F(x_k) &= \sup F, \\ \lim_{k \rightarrow \infty} |\nabla F(x_k)| &= 0, \\ \limsup_{k \rightarrow \infty} \max\{(\nabla^2(F(x_k)))(X, X) : |X| = 1\} &\leq 0. \end{aligned}$$

3 Proof of Theorems

First, we give the following Lemma.

Lemma 3.1. *With the same assumptions as Theorem 1.2.*

(1) *we have the following inequality,*

$$\square(nH) \geq \frac{1}{n-1}|\Phi|^2 Q_P(|\Phi|), \tag{20}$$

where

$$Q_P(x) = -(n-2)x^2 - (n-2)x\sqrt{x^2 + n(n-1)P} + n(n-1)(P+c),$$

and

$$c = 2\delta - c_0 > 0.$$

(2) *If the mean curvature H is bounded, then there is a sequence of points $\{x_k\}$ in M such that*

$$\lim_{k \rightarrow \infty} nH(x_k) = \sup(nH), \quad \lim_{k \rightarrow \infty} |\nabla(nH)(x_k)| = 0, \quad \limsup_{k \rightarrow \infty} (\square(nH)(x_k)) \leq 0. \tag{21}$$

Proof. (1) Putting $\mu_i = \lambda_i - H$ and $|\Phi|^2 = \sum_i \mu_i^2 = S - nH^2$. From (12),(17), we have

$$\begin{aligned} \square(nH) &= \sum_{ij} (nH\delta_{ij} - h_{ij})(nH)_{ij} = nH\Delta(nH) - \sum_{ij} h_{ij}(nH)_{ij} \\ &= \frac{1}{2}\Delta[(nH)^2] - n^2|\nabla H|^2 - \sum_{ij} h_{ij}(nH)_{ij} \\ &= \frac{1}{2}\Delta S - n^2|\nabla H|^2 - \sum_{ij} h_{ij}(nH)_{ij} \tag{22} \\ &= \underbrace{\sum_{ijk} h_{ijk}^2}_I - n^2|\nabla H|^2 - S^2 + \underbrace{nH\sum_i \lambda_i^3}_{II} \\ &\quad + \underbrace{nH\sum_i \lambda_i K_{n+1in+1i} - S\sum_i k_{n+1in+1i} + \sum_{ij} (\lambda_i - \lambda_j)^2 K_{ijij}}_{III}. \end{aligned}$$

Firstly, we estimate (I):

Taking the covariant derivative of the equation (12), we have

$$2n^2HH_k = 2\sum_{ij} h_{ij}h_{ijk}. \tag{23}$$

Therefore

$$n^4H^2|\nabla H|^2 = \sum_k (\sum_{ij} h_{ij}h_{ijk})^2 \leq S(\sum_{ijk} h_{ijk}^2). \tag{24}$$

Since $P \geq 0$, we have $n^2H^2 \geq S$, so from (24), we obtain

$$\sum_{ijk} h_{ijk}^2 - n^2|\nabla H|^2 \geq 0. \tag{25}$$

Secondly, we estimate (II):

It is easy to know that $\sum_i \lambda_i^3 = nH^3 + 3H\sum_i \mu_i^2 + \sum_i \mu_i^3$. By applying Lemma 2.1 to real numbers μ_1, \dots, μ_n , we obtain

$$\begin{aligned} -S^2 + nH\sum_i \lambda_i^3 &= -(|\Phi|^2 + nH^2)^2 + n^2H^4 + 3nH^2|\Phi|^2 + nH\sum_i \mu_i^3 \\ &\geq -|\Phi|^4 - \frac{n(n-2)}{\sqrt{n(n-1)}}|H||\Phi|^3 + nH^2|\Phi|^2. \end{aligned} \tag{26}$$

Finally, we estimate (III):

Using curvature condition (*), we get

$$nH\sum_i \lambda_i K_{n+1in+1i} - S\sum_i k_{n+1in+1i} = nc_0(nH^2 - S) = -nc_0|\Phi|^2 \tag{27}$$

and

$$\sum_{ij} (\lambda_i - \lambda_j)^2 K_{ijij} = \sum_{ij} (\mu_i - \mu_j)^2 K_{ijij} \geq \delta \sum_{ij} (\mu_i - \mu_j)^2 = 2n\delta |\Phi|^2. \tag{28}$$

From (27) and (28), we have

$$III \geq n(2\delta - c_0) |\Phi|^2. \tag{29}$$

From (22),(25), (26),(29) and set $c = 2\delta - c_0$, we have

$$\square(nH) \geq -|\Phi|^2 [|\Phi|^2 + \frac{n(n-2)}{\sqrt{n(n-1)}} |H| |\Phi| - n(c + H^2)]. \tag{30}$$

From Gauss equation, we have

$$H^2 = \frac{1}{n(n-1)} [|\Phi|^2 + n(n-1)P]. \tag{31}$$

From (30) and (31), we have

$$\square(nH) \geq \frac{1}{n-1} |\Phi|^2 Q_P(|\Phi|), \tag{32}$$

where $Q_P(x) = -(n-2)x^2 - (n-2)x\sqrt{x^2 + n(n-1)P} + n(n-1)(P+c)$.

(2) Since M^n is orientable, $P \geq 0$ and in the case where $P = 0$, the mean curvature function H does not change sign, we can assume that $H \geq 0$ (by changing the orientation of M^n if necessary).

If $H \equiv 0$ the result is obvious. Let suppose that H is not identically zero, we may assume that $\sup H > 0$. From

$$(\lambda_i)^2 \leq S \leq n^2 H^2, \quad \text{i.e.} \quad |\lambda_i| \leq n|H|. \tag{33}$$

Since H is bounded and (33), we know that S is also bounded. From (11), we have

$$R_{ijij} \geq \delta - \lambda_i \lambda_j \geq \delta - S. \tag{34}$$

This shows that the sectional curvatures of M^n are bounded from below because S is bounded. Therefore we may apply Lemma 2.2 to the function nH and obtain a sequence of points $\{x_k\} \in M^n$ such that

$$\lim_{k \rightarrow \infty} nH(x_k) = n \sup H, \quad \lim_{k \rightarrow \infty} |\nabla H(x_k)| = 0, \quad \lim_{k \rightarrow \infty} \sup(nH_{ii}(x_k)) \leq 0. \tag{35}$$

From (33), we have

$$0 \leq nH - |\lambda_i| \leq nH - \lambda_i, \tag{36}$$

By applying $\square(nH)$ at x_k , we have

$$\limsup_{k \rightarrow \infty} (\square(nH)(x_k)) = \lim_{k \rightarrow \infty} \sum_i \sup [nH(x_k) - \lambda_i(x_k)] nH_{ii}(x_k) \leq 0. \tag{37}$$

Proof of Theorem 1.2. From the assumptions of Theorem 1.2, we can assume that $H \geq 0$ on M^n . If $\sup |\Phi|^2 = +\infty$, then (ii) of Theorem 1.2 is trivially satisfied and there is nothing to prove. If $\sup |\Phi|^2 = 0$, then (i) of Theorem 1.2 holds and there is nothing to prove. Then, let us assume that $0 < \sup |\Phi|^2 < +\infty$. From (31), we know that H is bounded. According to (2) of Lemma 3.1, there exists a sequence of points $\{x_k\}$ in M^n such that

$$\lim_{k \rightarrow \infty} nH(x_k) = \sup(nH), \quad \lim_{k \rightarrow \infty} |\nabla(nH)(x_k)| = 0, \quad \limsup_{k \rightarrow \infty} (\square(nH)(x_k)) \leq 0. \tag{38}$$

From (31), we have $\lim_{k \rightarrow \infty} |\Phi|^2(x_k) = \sup |\Phi|^2$. Evaluating (20) at the point x_k of the sequence, taking the limit and using (38), we obtain that

$$0 \geq \lim_{k \rightarrow \infty} \square(nH)(x_k) \geq \frac{1}{n-1} \sup |\Phi|^2 Q_P(\sup |\Phi|). \tag{39}$$

Since $P \geq 0$ and $c = 2\delta - c_0 > 0$, $Q_P(0) = P + c > 0$ and $Q_P(x)$ is strictly decreasing for $x \geq 0$, with $Q_P(x_0) = 0$ at

$$x_0 = \sqrt{\frac{n(n-1)}{(n-2)(nP+2c)}}(P+c) > 0. \tag{40}$$

Therefore (39) implies

$$\sup |\Phi|^2 \geq \frac{n(n-1)(P+c)^2}{(n-2)(nP+2c)} = D(n, P). \tag{41}$$

This proves the inequality in (ii) of Theorem 1.2.

If $P > 0$, from Gauss equation, we know $n^2H^2 > S \geq \lambda_i^2$, so $nH - \lambda_i \geq nH - |\lambda_i| > 0$, i.e.

$$nH - \lambda_i > 0. \tag{42}$$

From (42), we know the operator \square is positive definite, that is, the operator \square is elliptic. From (31), we have

$$\begin{aligned} \square(|\Phi|^2) &= \frac{n-1}{n} \square(n^2H^2) \\ &= 2\frac{n-1}{n} nH \square(nH) + 2\frac{n-1}{n} (nH - \lambda_i) (nH_i)^2 \\ &\geq 2\frac{n-1}{n} nH \square(nH) \\ &\geq 2\frac{n-1}{n} nH |\Phi|^2 Q_P(|\Phi|) = 2(n-1)H |\Phi|^2 Q_P(|\Phi|). \end{aligned} \tag{43}$$

If $\sup_M |\Phi| = x_0$, then $0 \leq |\Phi| \leq \sup_M |\Phi| = x_0$, so we have

$$Q_P(|\Phi|) \geq 0. \tag{44}$$

From (43) and (44), we have

$$\square(|\Phi|^2) \geq 0. \tag{45}$$

If $\sup |\Phi|^2 = D(n, P)$ and this supremum is attained at some point of M^n , then by the maximum principle $|\Phi|$ must be constant, $|\Phi| = x_0$. From (31), we know that H is constant. Thus, (20) becomes trivially an equality

$$\square(nH) = 0 = \frac{1}{n-1} |\Phi|^2 Q_P(|\Phi|). \tag{46}$$

Therefore, all the inequality in the proof of (1) of Lemma 3.1 must be equalities. So (27) becomes an equality, i.e. $\sum_{ijk} h_{ijk}^2 = n^2 |\nabla H|^2$, since H is constant, we know that $\sum_{ijk} h_{ijk}^2 = 0$, i.e. $h_{ijk} = 0$, for $i, j, k \in \{1, \dots, n\}$. From (13), we have $0 = d\lambda_i - 2\sum_k h_{ik} \omega_{ki} = d\lambda_i$, hence λ_i is constant.

From (26) and Lemma 2.1, we know that M^n has two distinct principal curvatures, one of them being simple, after reenumeration if necessary, we can assume that $\mu_1 = \dots = \mu_{n-1} \geq 0$, $\mu_n \neq \mu_1$, where $\mu_i = \lambda_i - H$, $i = 1, \dots, n$. Thus $\lambda_i \geq H \geq 0$ for $i = 1, \dots, n-1$, we set $\lambda = \lambda_1 = \dots = \lambda_{n-1} \geq 0$, $\mu = \lambda_n$.

From the equality of (28), we have $\sum_{ij} (\lambda_i - \lambda_j)^2 (K_{ijij} - \delta) = 0$. Since $K_N \geq \delta$, so if $i \neq j$, then $(\lambda_i - \lambda_j)^2 (K_{ijij} - \delta) = 0$, so $K_{ijij} = \delta$ or $\lambda_i = \lambda_j$ for $i \neq j$. If $\lambda_i \neq \lambda_j$, from (13), we have $(\lambda_i - \lambda_j) \omega_{ij} = 0$, so $\omega_{ij} = 0$. From (10) and $\omega_{ij} = 0$, we have

$$R_{ijij} = 0(\lambda_i \neq \lambda_j). \tag{47}$$

From (11), we have

$$\lambda\mu + \delta = 0. \tag{48}$$

On other hand

$$(n-1)\lambda + \mu = nH = \text{constant}. \tag{49}$$

From (48) and (49), we have

$$\lambda = \frac{1}{2(n-1)} [nH + \sqrt{n^2 H^2 + 4(n-1)\delta}], \quad \mu = \frac{1}{2} [nH - \sqrt{n^2 H^2 + 4(n-1)\delta}].$$

So M^n has two distinct constant principal curvatures, one of them being simple. This proves the Theorem 1.2.

Proof of Theorem 1.3. From the assumptions of Theorem 1.3, we can assume that $H > 0$ on M^n . From (30), we have

$$\square(nH) \geq -|\Phi|^2 \left[|\Phi|^2 + \frac{n(n-2)}{\sqrt{n(n-1)}} H |\Phi| - n(c + H^2) \right]. \tag{50}$$

Consider the quadratic form $P(x, y) = -x^2 - \frac{n-2}{\sqrt{n-1}}xy + y^2$. By the orthogonal transformation

$$\begin{aligned} u &= \frac{1}{\sqrt{2n}}((1 + \sqrt{n-1})y + (1 - \sqrt{n-1})x) \\ v &= \frac{1}{\sqrt{2n}}((-1 + \sqrt{n-1})y + (1 + \sqrt{n-1})x) \end{aligned}$$

$P(x, y) = \frac{n}{2\sqrt{n-1}}(u^2 - v^2)$. Take $x = |\Phi|$ and $y = \sqrt{n}H$; we obtain $u^2 + v^2 = x^2 + y^2$, and by (50), we have

$$\begin{aligned} \square(nH) &\geq |\Phi|^2 \left(nc + \frac{n}{2\sqrt{n-1}}(u^2 - v^2) \right) \\ &\geq |\Phi|^2 \left(nc - \frac{n}{2\sqrt{n-1}}(u^2 + v^2) + \frac{n}{2\sqrt{n-1}}2u^2 \right) \\ &\geq |\Phi|^2 \left(nc - \frac{n}{2\sqrt{n-1}}(u^2 + v^2) \right) \\ &\geq |\Phi|^2 \left(nc - \frac{n}{2\sqrt{n-1}}S \right). \end{aligned} \tag{51}$$

From (12) and $S \leq 2\sqrt{n-1}c$, we know that H is bounded. According to (2) of Lemma 3.1, there exists a sequence of points $\{x_k\}$ in M^n such that

$$\lim_{k \rightarrow \infty} nH(x_k) = \sup(nH), \quad \lim_{k \rightarrow \infty} |\nabla(nH)(x_k)| = 0, \quad \limsup_{k \rightarrow \infty} (\square(nH)(x_k)) \leq 0. \tag{52}$$

From (31) we have

$$\lim_{k \rightarrow \infty} |\Phi|^2(x_k) = \sup |\Phi|^2. \tag{53}$$

and

$$\lim_{k \rightarrow \infty} S(x_k) = \lim_{k \rightarrow \infty} |\Phi|^2(x_k) + \lim_{k \rightarrow \infty} (nH)(x_k) = \sup S. \tag{54}$$

Evaluating (51) at the points x_k of the sequence, taking the limit and using (52), we obtain that

$$\begin{aligned} 0 &\geq \limsup_{k \rightarrow \infty} (\square(nH)(x_k)) \\ &\geq \sup |\Phi|^2 \left(nc - \frac{n}{2\sqrt{n-1}} \sup S \right) \geq 0. \end{aligned} \tag{55}$$

we have $\sup |\Phi|^2 = 0$, that is $\Phi = 0$ or $\sup S = 2\sqrt{n-1}c$. If $\sup \Phi = 0$, then $S = nH^2$ and M^n is totally umbilical.

Since $P > 0$, we know that \square is an elliptic operator. From (12) and $S \leq 2\sqrt{n-1}c$, we have

$$\begin{aligned} \square(S) &= \square(n^2H^2) = 2nH\square(nH) + 2(nH - \lambda_i)(nH_i)^2 \\ &\geq 2nH\square(nH) \geq 2nH|\Phi|^2(nc - \frac{n}{2\sqrt{n-1}}S) \geq 0. \end{aligned} \tag{56}$$

If $\sup S = 2\sqrt{n-1}c$ and this supremum is attained at some point of M^n , then by the maximum principle S must be constant, $S = 2\sqrt{n-1}c$. From (12), we know that H is constant. Thus, (51) becomes trivially an equality

$$\square(nH) = 0 = |\Phi|^2(nc - \frac{n}{2\sqrt{n-1}}S). \tag{57}$$

Therefore, all inequalities in proof of (51) must be equalities. From $u = 0$, we have

$$|\Phi| = \frac{\sqrt{n-1} + 1}{\sqrt{n-1} - 1} \sqrt{n}H > 0. \tag{58}$$

By using Lemma 2.1 and (58), we know that M^n has two distinct principal curvature, one of them being simple. Since S and H are constants, it is easy to know that M^n has two distinct constant principal curvatures, one of them being simple. This proves Theorem 1.3.

Acknowledgement. The authors would like to thank the referee whose valuable suggestions make this paper more perfect.

References

- [1] Alencar, H. and do Carmo, M., Hypersurfaces with Constant Mean Curvature in Spheres, *Pro. Amer.Math. Soc.* 120(1994), 1223-1229.
- [2] Alías, L. J., García-Martínez, S. C. and Rigoli, M., A Maximum Principal for Hypersurfaces with Constant Scalar Curvature and Applications, *Ann. Glob. Anal. Geom.*, 41(2012), 307-320.
- [3] Brasol Jr., A. Colares, A. G. and Palmas, O., Complete Hypersurfaces with Constant Scalar Curvature in Spheres, *Monatsh Math.*, 161(2010), 369-380.
- [4] Cheng, S. Y. and Yau, S. T., Hypersurfaces with Constant Scalar Curvature, *Math. Ann.*, 225 (1977), 195-204.
- [5] Kim, H. S. and Pyo, Y. S., Complete Minimal Hpersurfaecs in a Locally Symmetric Space, *Bal.J.Geo. and Its Appl.*, 4(1999), 103-115.
- [6] Li, H. Z., Hypersurfaces with Constant Scalar Curvature in Space forms, *Math. Ann.*, 305 (1996), 665-672.
- [7] Li, H. Z., Global Rigidity Theorems of Hypersurfaces, *Ark. Math.*, 35(1997), 327-351.
- [8] Okumura, M., Hypersurfaces and a Pinching Problem on the Second Fundamental Tensor, *Amer. J. Math.*, 96(1974), 207-213.

- [9] Omori, H., Isometric Immersions of Riemannian Manifolds, *J. Math. Soc. Japan*, 19(1967), 205-214.
- [10] Shu, S. C. and Liu, S. Y., Hypersurfaces in a Locally Symmetric Manifold, *Adv. in Math.*, 33(2004), 563-568.
- [11] Wang, Q. L. and Xia, C. Y., Rigidity Theorems for Closed Hypersurfaces in Space forms, *Quart. J.Math.Oxford Ser.*, 56(2005), 101-110.
- [12] Wei, G. X. and Suh, Y. J., Rigidity Theorems for Hypersurface with Constant Scalar Curvature in a Unit Sphere, *Glasg. Math. J.*, 49(2007), 235-241.
- [13] Wang, M. J. and Hong, Y., Hypersurfaces with Constant Mean Curvature in a Locally Symmetric Manifold, *Soochow. J. Math.*, 33(2007), 1-15.
- [14] Xu, H. W. and Ren, X. A., Closed Hypersurfaces with Constant Mean Curvature in a Symmetric Manifold, *Osaka J. Math.*, 45(2008), 747-756.

College of Mathematics and Information Science

Xinyang Normal University

Xinyang, Henan, 464000

P. R. China

Y. B. Han

E-mail: yingbhan@yahoo.com.cn

S. X. Feng

E-mail: fsxhyb@yahoo.com.cn